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Do Now:

1. Based on the graph below:
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a) Identify the roots:

b) In words describe the nature of the roots:

2. Based on the graph below:
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a) ldentify the roots:
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b) In words describe the nature of the roots:

AIM: SOLVING WORD PROBLEMS USING QUADRATIC EQUATIONS (Day 1)

1. Find three consecutive positive integers such that the product of the 1* and second is equal to 20.

Step 1: Write a legend from the question.
=1C.P.l.

=2"C.P.I.

=3"C.P.I.
Step 2: Translate the question into an equation

Step 3: Solve the equation
Step 4: Plug solution into the legend
Step 4: Check



https://www.google.com/url?sa=i&rct=j&q=&esrc=s&source=imgres&cd=&cad=rja&uact=8&ved=2ahUKEwjE4Y7gktjZAhVtg-AKHdjeAaUQjRx6BAgAEAY&url=https://www.varsitytutors.com/hotmath/hotmath_help/topics/graphing-quadratic-equations-using-factoring&psig=AOvVaw1bW9CWyjqD5G5tbaVo1c5A&ust=1520441136391197

2. The larger of two positive integers is 3 more than the smaller. If the product of the two numbers is 88, what
are the two numbers?
Step 1: Write a legend from the question.
Step 2: Translate the question into an equation
Step 3: Solve the equation
Step 4: Plug solution into the legend
Step 4: Check



3. Find three consecutive positive EVEN integers such that the product of the 2" and 3" integer is equal to 22
more than the 1st.

Step 1: Write a legend from the question.
=1"C.P.l.

=2"C.P.l.

=3"C.P.l.
Step 2: Translate the question into an equation

Step 3: Solve the equation
Step 4: Plug solution into the legend
Step 4: Check



4. The square of a positive number is 20 more than the number itself. What is the number?

Step 1: Write a legend from the question.

Step 2: Translate the question into an equation
Step 3: Solve the equation

Step 4: Plug solution into the legend

Step 4: Check



